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o 182 AB & A E2R 5= P
ghdolt}, ,COD = 50° & o, /P
o 2717

@ 60° (@)65° ® 70°

@ 75°  ® 80°
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1) A A;LD £ dF8s5tE AES J29,
5.0ptCD ] Y37+ /CAD = 25° o|t}.
2) ¥rdof ot Y52k 90° o] B2
LADP = 90° o]t}
. /P =180°-(90°+25°) =65°
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5<a<bd, Jla-b2- \/5-a)?2+ /(b-5)2 3]

SHA?
DO -2a+12 @—2a+2b ®0
@ 2a-12 ® 2b-12

B

a<boAXa-b<0

5<alA5-a<0

5<bolAb-5>0

(FolR A) =-(a-b)-{-6-a)} + (b-5)
=-a+b+5—-a+b-5
= —-2a+2b
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® 4.1 @ 4.3 ® 4.5 @ 4.7 3)4.8

B

Foil WiTFe] Hato] 7o|B =
44+6+10+x+9
: =7
294 x =35
L x=06
o] MAtE -3,-1,3,-1,20| B2 HAk2
(=32 +(-1*+3%+(-1)2+2>2  9+14+9+1+4
5 B 5
24
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12, o2 2" HAZ9 ABCD oM 78 A _

29| Zo|7t Az 9] Zo]9] 3 vjo]1r
izt o] Zo]7F 20 cm € ff, o] A}
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13. oS o)A AABC 2] Yo|Z L5HH?

il

A
42°
.
B\\ -
“~-10cm -~ C
(afZtd|e] #)
T sin z cos T tan x
42° 0.66 0.74 0.90
43° 0.68 0.73 0.93
44° 0.69 0.72 0.97
® 33cm? @ 37cm? 3)45 cm?
@ 72cm? ® 90cm?

B

AC = xg} 514
/B=42°0]|B2 x=10xtan42°=10x0.9=9

e AABC 9] Holi= 10 x 9 X % = 45(cm?) ot}
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AABC oA BC = 16cm ¥
o, AH o] Zo]=?

D 3+v3cm @4\/§cm ® 5+3cm
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8

S 16
AH = tan(90 01?3 60°) + tan(90° — 30°)
T ° 1 tan60°
B ang” + 06
3 443
E
b

= 5 = 43(cm)
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